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14-23	No check figure available.
14-24	No check figure available.
14-25	No check figure available. 
14-26	1. Sales volume variance = $1,800U; flexible budget variance, in terms of contribution margin = $7,700U; flexible budget variance, in terms of operating income = $9,700U; 3a. Flexible budget operating income = $9,750; 3b. Flexible budget operating income = $13,350.
14-27	1. Actual operating income = $25,000; 2. Master budget operating income = $45,000; 3. Total master (static) budget variance, in terms of operating income = $20,000U; 4a. Total flexible budget variance = $0; 4b> Sales volume variance = $20,000U.
14-28	1. Budgeted operating income = $182,500; 2a. Sales volume variance, in terms of operating income = $17,500U; 2b. Sales volume variance, in terms of contribution margin = $17,500U; 3a. Total flexible-budget variance = $44,250U; 3b. Total variable cost flexible-budget variance = $47,500U; 3c. Total fixed cost flexible-budget variance = $30,000U; 3d. Selling price variance = $33,250F.
14-29	1. Purchase-price variance (Aluminum) = $12,005U; usage (quantity) variance (Aluminum) = $5,750F; 2. Direct labor rate variance = $6,300U; direct labor efficiency (quantity) variance = $16,000F.
14-30	1. Standard direct labor wage rate = $29.98/hour; 2. Direct labor efficiency variance = $5,996F.
14-31	1. Budgeted Gross Profit = $915,333; budgeted operating income = $472,883; 2. Budgeted Gross Profit = $1,092,667; budgeted operating income = $622,317.
14-32	1. December 2013: Standard direct labor hours per unit = 1.47015; standard direct labor cost per unit = $44.10; 2. Direct labor efficiency variance, $2,955U.
14-33	1a. $36,000; 1b. $3,000U; 1c. $11,000U; 1d. $5,600F; 1e. $5,600F.
14-34	No check figure available.
14-35	$196.00
14-36	No check figure available.
14-37	No check figure available.
14-38	1. Materials purchase-price variance = $720U; 2. Materials usage variance = $2,400F.
14-39	1. Direct materials purchase-price variance = $550U; Direct materials usage variance = $1,450U
14-40	1.  Materials purchase-price variance = $2,700U; 2. Materials usage (quantity) variance = $1,000U; 3. Direct labor rate variance = $26,950F; direct labor efficiency (quantity) variance = $2,500F.
14-41	No check figure available.
14-42	3. PCE, Pre-JIT = 30.77%; PCE, Post-JIT Implementation = 37.50%; 4. Percentage improvement = 21.87% (22%, rounded).
14-43	1. Actual operating income = $20,000; flexible-budget operating income = $74,000; master budget operating income = $70,000; 2a. Total master (static) budget variance = $50,000U; 2b. Total flexible-budget variance = $54,000U; 2c. Total variable cost flexible-budget variance = $40,000U; 2c1. Flexible budget variance for variable manufacturing costs = $41,000U; sales volume variance = $4,000F; 2c2. Flexible budget variance for variable nonmanufacturing costs = $1,000F; 2d. Total fixed cost flexible-budget variance = $4,000U; 2d1. Flexible-budget variance for fixed manufacturing costs = $0; 2d2. Flexible-budget variance for fixed non-manufacturing costs = $4,000U. 
14-44	1. Materials purchase-price variance, 4th quarter = $480,000F; materials purchase-price variance, for the year = $360,000F
14-45	1. $50,000U; 2. $25,000U; 3. $5,000U.
14-46	1a. Standard quantity of raspberries, per 10-gallon batch = 7.5 quarts; standard of blending labor, per 10-gallon batch = 1/5 hours (i.e., 12 minutes); 1b. Standard price (rate) per quart of raspberries = $4.00/quart; 1c. Standard cost per 10-gallon batch = $80.00
14-47	No check figure available.
14-48	1a. Direct labor efficiency variance = $12,740F; 1b. Direct labor rate variance = $64,300F; 1c. Actual quantity of material used in November = 52,500 kg.; 1d. Actual price paid per kg of material = $4.985; 1e. Prime costs transferred to finished goods inventory, November = $835,520; 1f. Ending inventory, at standard cost = $97,520; 2. Materials purchase-price variance = $750F; direct materials usage variance = $1,500F.
14-49	1. Actual operating income = $8,050; Flexible budget operating income = $6,900; Master (static) budget operating income = $8,000; total master (static) budget variance = $50F; total flexible-budget variance = $1,150F; sales volume variance = $1,100U; 2. Labor rate variance = $1,500U; labor efficiency (quantity) variance = $100F. 
14-50	No check figure available.
14-51	1. Flexible budget: unit sales = 50,000; sales revenue = $500,000; contribution margin = $150,000; operating income = $75,000; 2a. Total master (static) budget variance = $35,000U; 2b. Total flexible-budget variance = $65,000U; 2c. Sales volume variance, in terms of operating income = $30,000F; sales volume variance, in terms of contribution margin = $30,000F; 2d. Sales price variance = $50,000U.
14-52	1a. $13,900U; 1b. $8,500U; 1c. $400F; 1d. $4,860U; 1e. $44,000U; 1f. $12,200F; 2. Total contribution margin variance = direct materials price variance + direct materials usage variance + direct labor efficiency variances + direct labor rate variances + selling price variance + sales volume variance. 
14-53	No check figure available.
14-54	No check figure available. 
14-55	No check figure available. 
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